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“Success is peace of mind which is a direct result of self-satisfaction in knowing you did
your best to become the best you are capable of becoming.”

(Cloach John Wooden

1. (8pt) For each of the following choose True or False (I1pt) and briefly justify either
with picture/computation/words (1pt). Each worth two points.

(a) If u=aj+bk and v = ¢j + dk, then u x v is parallel to k.
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(a) (5pt) Find the area of the triangle with vertices.
R=(3,2,1). -
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,{I;D (5pt) Find the equation
‘— through the point P




) (5pt) Let v = (1,1, 3). Find the projection
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n.f_ v onto the normal vector n.
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r(t) = (3t +6,2,2) i
. £ 1,0,-1). Find
(a) (5pt) If 5(t) is another curve with (1) = {1,2,1) and s )
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(b) (5pt) If £(t) = 2 — 3t + 3, find rz'(1) when ra(t) = £(f(t)} s a
of the above curve, I
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r(t) = <:— +15, 0+ 1.111{f]>

be the position veetor of u particle traveling through space.
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{a) (5pt) Compute the derivative and the second derivative -
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(b} (5pt) Find a unit tangent vector T(t) to r(t) at ¢ = 1. Also, find the gpmﬂ uf*’g:
at t = 1.
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(¢) (5pt) Find the equation of the tangent line to r(t) at ¢ =1
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